Y)—4S1EBER 20154 &
FE EEEM
g8 B|mm] 215 EEEH | B £15 EEE
4811H HKIRSFR REFE2 PL
1 () 1000 BX - I3 e kohsk| 13:00 HE - Bl | = sEn
13:00 irhe - KRR B WkE| 1500 i - EBEE P2 wit
4818H XEE2 Lif235d
2 () |1000f BR - BEE 35 WLkE| 10:.00 | LR - Bl HE kR
13.00 i@ - WkEE BX @m@E=xE 1300 FE - Kt sk
48 25H HFE 14:0082kL Mk PL
3 () |1000f BR - WA ek @Ex| 13.00 HE - R | =8 ko
12:00 | Wirh - BREE B8Xx #1500 Ef - KR PHE URE
4829H i35
4 (k) |[1000| HiE - Wit BX k| 1400 LR - WigmE #E sEx
1200 HX - ¥R ®mE #1600 SRR - BEE Wbk LR
5828 5828 mWEkX 5868 #KiRSFE 14008rL
5 5868 1000 BX - Wk | =E  WE | 1000 | KR - WRE wHit ®E=
(K)(K)| 1300 g - FE 8K Wwhk| 1200 - BEE kb LBER
5816H 5168 [5G 14:008~ 58238 HiZ
6 582381000 AX - PR =HE k| 1000 Kk - BEE | Wit xR
() |1200 HiE - Wk BX W2 (1300 Hit - R ke AR
7848 hit2$53 XEFE2 PL
7 () 1000 BX - B | P2 k| 13:00 Rr3 - Wik mEm LkE
13:.00 JL - Wk BX H=E | 1500 HBEAXE - W Kepse it
7R11H XEE2 Lif2351
8 () 1000 BX - IR =& #emE®E| 1000 FE - b |tk kg
13:.00 i@ - BREE BXx WkHE 1300 Wk - Xk HE s
78208 REFE?2
9 (A) |1000f BX - BREE 35 LkE 1400 FE - Kb Lk it
12200 i@ - WM =X #Bmx| 1600 LWHR - ik BE kR
8A22H FKIRSFER
10 (+) |1000 BX - Wit =E kx| 1400 FE - W sk gBER
12:00 i - R | BX it | 1600 Witk - BEEE P2 UkE
8H29H HKIRSFR XEFE2 PL
11 (£) |1000 BX - KPR PR #mmEm| 13.00 | LR - IR =& Hi
13:00 PR - EBREE BXx %xhx|1500 Ef - WAt ke kR
9A5H 9ASHEE PL 9A6R S
12 9A6H | 1300 [ BX - W st #BEE| 1000 | R - FIR kb LR
(£)(A)| 1500 HidL - BREE B8X Whk|13:.00 R - WgE =& N
9A21H KIRSFER
13 (A) |10:00 HBHX - FIE  =HE k| 1400 | KR - BE®E wmit LkxR
1200 HiE - Wk BX RB|16:00 Hit - WM kehk EBRE
9R26H KIRSFER
14 (%) |1000 HBAX - i P2 k| 1400 | KPR - Wik mEmE LkE
1200 PL - Wk BX H=E | 1600 HBEAXE - W Kepse it
6H21BXESE?2 9H 238 *iRSFEPL
Fim - 0 0 - 0 0
- 0 0 - 0 0




